Onumnunapa Nudparop 2024 (1m Typ)
m0d3050d 3nmdgmég 2024 (1 §men)
Pythagoras Olympiad 2024 (1st round)

8 3mabo
8 knacc

8th grade

1. 3ggmo, demaMdo, RoGo ©d obmbgms nymeybgb Gmmmmbamb. brsMadl
ho@dg mfigg® 3980 gham. Rl obmbgmsedg byoxgh bogmgdo gfam.
obmbgmal 30 - Bo@dy 8-0 3gB0. Modgb babomom aym oymeznemn
RMMoMbamo, o) dggmb gMam dbmemm gmMoimberals 3560.

Bonk, Ex, Ynx n Bo6ép genunu anenscuH. EXy goctanock Basoe
bonblue gonek, 4em Yumxy. Hmxy - BnATepo MeHbLue, yem bobpy. A
Bobpy - Ha 8 gonek Gonblle, Yem Ymxky. Hangute, ckonbko gonek
ObI10 B anenscuHe, ecnu Bornky goctanack TOMbKO KOXypa.

The Wolf, Hedgehog, Finch, and Beaver shared an orange. The
Hedgehog got twice as many slices as the Finch. The Finch got five
times fewer slices than the Beaver. And the Beaver got 8 slices
more than the Finch. Find out how many slices were in the orange,
given that only the peel was given to the Wolf.

2. 33095 3gd0ddy Mg mbogfns.  dg60s  dznemndgomdy  Ladxgm
QMBOO&)OO. 830@0880@0 8‘3600%8 mmbxaﬁ Q(Y)Gﬂaﬁﬂb, 8‘0600 (Bﬂbm(ba
byogag® cmbotns, gobm mogmbosdyg gdsbxa®  mbogMos.cregmbosls
a5M9dg mamaddol sdmemgds sfegal dgmdmons, domemme mogiboslosb
9fma dgdmgdgb 83sb. madmgbo magbos oMl LognMm ndabamgal,
3 bmemE 00ab0gdds Sdmnmmb momasdn?



Henka BaBoe cunbHee babkn, babka BTpoe cunbHee BHy4Kn,
BHyuka ByeTBepo cunbHee XKy4yku, Kyyka BnaTepo cunbHee KoLk,
Kowka Bwectepo curibHee Mblwkn. bes Mblwkn Bce ocTasnbHble
Penky BbITawmtb He MOryT, a ¢ Hel — MOryT. CKOMbKO HYXXHO
Mblwwek, 4ToObl OHM camu BbiTawmnun Penky?

Grandpa is twice as strong as Grandma, Grandma is three times
stronger than Granddaughter, Granddaughter is four times stronger
than Beetle, Beetle is five times stronger than Cat, and Cat is six
times stronger than Mouse. Without the Mouse, all the others
cannot pull out the Turnip, but with her, they can. How many Mice
are needed for them to pull out the Turnip themselves?

. 9903009 3mobdn  dmbgogmaggdal  Momegbmds 3- by dgGoe s 15-Bg
bogmgdo. omgmal dodmeb d53d390L domBobs 195 30b¢3980 o6 yggmes
dmbbBogmal  amMogs 3064398 900L  Gmemn Mamegbmds s ©dnl dgdmaa
&mM3oddo  oMhs 8  30b¢39@0. Mdrgbo 3963980  gfam  mommgme
dmbbagmal?

B 7«b» knacce yuntca 6onbwe 3, HO MeHble 15 getein. Ha HoBbIN
rog K HAM npuwén Hen Moposa ¢ Mewkom, B KoTopom 6binio 195
KOH(eT. PazgaB Bcem pebstam B knacce nopoBHy koHdeT, [en
Mopo3 obHapyxus, 4To B Mellke ocTanocb 8 KOH(eT. CKOnbko
KOH(PET Nonyymn Kaxabin n3 pedat?

In the 7th grade, there are more than 3 but less than 15 children.
For New Year's, Santa Claus came to them with a bag containing
195 candies. After giving out an equal number of candies to all the
children in the class, Santa Claus found that there were 8 candies
left in the bag. How many candies did each child receive?

. Bobmb  80bsdn 8 Rsdfmmgggmo, 21 Ladmognsbo asdsgmdgmadgemo s
MmdMo30  mooms.  Msdgbo  goxmb  Remgs  dgydemos  babmb

9M0MMNS0?



B TaHuHOM kBapTMpe wumeetca 8 po3eTok, 21 TPOWHUK W
HeorpaHM4YeHHbIM 3anac yToroB. Kakoe HanbornbLuee YMCno yToroB
TaHsa MOXET BKNKOYUTb B CETb OAHOBPEMEHHO?

In Jay's apartment, there are 8 sockets, 21 three-way adapters, and
an unlimited supply of irons. What is the maximum number of irons
Tanya can plug in at the same time?



